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82 *83 S g I S 7!
6 A 1~6H8 6. B 1~6H4 BT EA R | BT ER
B & #H A 14, 156 83, 725 16, 272 87,186 14.9 4.1
(B, F8) ] (469,993 | (2,795 842) | (454,778) | (2,584, 181) a 3.2 A 7.6
B d 4 2 13,113 80, 392 15, 056 89, 367 14.8 11.2
(% B K, %) (55.3) (56.2) (63.5) (62.5)
8 % £ E 13,453 79, 489 14, 892 88, 123 10.7 10.9
#q R H B 14, 681 87,848 15, 494 93, 553 5.5 6.5
#q 5 ® A 3,065 12,096 2, 540 10, 203 Al7.1 &15.6
®q R &H H 503 1,624 602 4,539 19.7 179.5
() FEmifts FOB7#
E B [ hdE AR
(B6T . T &)
82 *83
6 A 1~67 6 A 1~65
th [ 10, 686 63,916(76.3) 11, 193 54, 615(62. 6)
B 2] 9,318 44,094 (52.7) 6,508 27,798(31.9)
F o4 o E — 11,609(13.8) 3, 046 10, 811(12. 4)
o] e 1, 264 6,794( 8.1 1,639 16, 006 (18. 3)
SRRV R 104 1,419( L 7 - —( -)
ob = 2| 3} — 2,852( 3.4) 127 6,465( 7.4)
o] A E - —( =) 127 1,815( 2. 1)
e &l o} — 2,852 (3.4) - 4,650( 5.3)
B @ oF Al o} 2,338 9,008(10.7) 2,912 10, 633(12. 2)
gl = ¥ A o} 1,841 6,231( 7. 4) 1,181 4,015( 4 :
g o] x| of - 468( 0.5) 1,235 2,792( 3
B 2 9 497 2,309( 2.8) 496 3,826( 4. £
h & = 1,132 7.949( 9. 6) — 6,337( 7
d = E =B 1,132 5,515( 6. 6) - 4, 824 5 5)
# ] 4 ol g} - 686( 0. 9) - —( —)
Y Esh — 1,748( 2. 1) - 1,513( 1.8)
b= i - —( =) 2,040 9, 136(10.5)
&t 14, 156 83, 725 (100. 0) 16, 272 87, 186 (100. 0)




6 Arh FihiE £ERE

(AL . Tl &)
82 83 MW B
68 1~65 6.0 A T=6 7 | WERR R | R
w8 & 287 2,120 339 2,159 18.1 1.8
& % 55 322 45 469 £©18.2 45.7
* 5] 232 1,798 294 1,690 26.7 A 6.0
*T o] 722 3,898 865 4,310 19.8 10.6
B3 sH 3,486 18,725 3,958 22,668 13.5 21.1
0.4% 923 3,777 1,235 5,758 33.8 52.4
1.0% 2,563 14, 946 2,723 16, 910 6.2 13.1
82 | & A 64 1,018 101 922 57.8 o 9.4
B p:: 97 489 23 419 &76.3 ~14.3
B - C & 5, 969 36, 564 6, 253 38,512 4.8 5.3
1.6% 301 2,584 427 4,288 41.9 65.9
2.5% 1,081 4,097 1,061 4,556 o 1.9 11.2
4.0% 4,587 29, 883 4,764 29, 668 3.9 A 0.72
H| =3 p::! 425 2,888 653 4,446 53.6 53.9
M = - -~ - - - -
Lt = E} 1,741 10, 444 1,947 10, 471 11.8 0.26
B i 46 305 105 436 128.3 43.0
L P G 419 2,298 441 2,862 5.3 24.5
= 2 o3 132 753 121 871 o 8.3 15.7
£ e} 287 1,545 320 1,991 11.5 28.9
of &~ ® E 197 772 207 919 | 5.1 19.0
Bt 13,453 79, 489 14,892 88, 123 10.7 10.9
6 Bk AMiE HEBES (L Tl )
82 83 M Oom B (%)
6 ;) 1~6 A 6 A 1~6 A8 BTSE R B o b | 4R RS e
5 £ 337 2,363 351 2,085 4.2 £&11.8
& 9 35 337 49 392 40.0 4.0
% b | 302 1,986 302 1,693 0.0 ©14.8
41 pi:! 651 3,719 619 3,893 a 4.9 4.7
L33 b 3,126 18, 986 3, 500 21,127 12.0 11.3
0.4% 804 3,828 1,271 . 5,915 58.1 54.5
1. 0% 2,322 15, 158 2,229 15,212 & 4.0 0.4
B W E oA 131 1,007 136 952 3.8 & 5.5
& pe:: 62 420 64 390 3.2 a 7.1
B - C & 7,247 44,603 7,219 45,043 o 0.39 1.0
1.6% 763 6,228 1,107 7,554 45.1 21.3
2.5% 1,205 4,781 1, 406 5,584 16.7 16.8
4.0% 5,279 33, 594 4,706 31, 905 #10.9 & 5.0
bl 1= s 493 2,836 573 3,623 16.3 27.8
M oz b 0.15 0.79 0.08 0.53 &46.7 £32.9
L o= E} 1,780 9, 850 1,937 10, 459 8.8 6.2
] #l 35 230 99 415 182.9 80. 4
L P G 616 3,059 804 4,712 30.5 54.0
= 2 3 224 1,326 297 1,867 32.9 40.8
H ek 392 1,733 507 2,845 29.3 64.2
ofF A W E 203 774 192 h 853 A 5.4 10.2
5t 14, 681 87.848 15,494 93, 553 5.5 6.5




